Answer Key

Lesson 10.1

Practice Level C

1.

x| —2|—-1] 0 |1]2
y| 36| 6 | 4|6 |36
x| 2| —-1|10]| 1 2
y| 3153 |15]| -3

Y

domain: all reals;
range: y 2 2;
vertical shrink by a

factor of % and vertical
shift 2 units up

domain: all reals;

= range: y < —3;

vertical stretch by a factor of 4, reflection in x-axis, and shift 3 units down

domain: all reals;
7
range: y > —5;
vertical stretch by a factor

" of 9 and vertical shift %

units down

domain: all reals;

range: y > l;

vertical shrink by a factor
of % and vertical shift %
unit up

domain: all reals;

range: y < 4;

vertical shrink by a factor
of %, reflection in x-axis,
and vertical shift 4 units up



domain: all reals;

range: y > %;

vertical stretch by a factor
of 6 and vertical shift >
unit up

domain: all reals;

range: y > —;;

vertical stretch by a factor
of 4 and vertical shift >

unit down

10. RE domain: all reals;

1
iy range:y< —x5;
vertical stretch by a factor
of 2, reflection in x-axis, and

vertical shift % unit down

11. * domain: all reals;

_ range: y < 15;
| i | vertical stretch by a factor of 5, reflection in x-axis, and vertical shift 15 units up
12. shift the graph of /'8 units down 13. shift the graph of /5 units down 14. shift the graph of /4 units
down 15. shift the graph of /16 units up 16. stretch the graph of f'vertically by a factor of 3
17. shrink the graph of f'vertically by a factor of %
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c. The second graph is a transformation of the first graph. The first graph has been reflected in the x-axis and

shifted 20 units up to obtain the second graph. For the first graph, find the value of # when y = 8. For the sec-
ond graph, find the value of

t wheny = 12.



